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ST. THOMAS SCHOOL, SAHIBABAD 
                                                                               WORKSHEET P.T- I (2024-25 ) 

CLASS-III 
ENGLISH   

TIME-1 Hr                                                                                                                                                                      M.M-20 
Name- __________________________ SEC-____ROLL NO- _____DATE- ______________M.OBTAINED-______ 
  
Q1 Answer these questions-  
a Why was Pandora not happy? 1 

 ___________________________________________________________________________________ 

___________________________________________________________________________________ 

 

 

b Why were the insects working hard ? 1 

 ___________________________________________________________________________________ 

___________________________________________________________________________________ 

 

 

c How did the insect use balloons to show their actions? 1 

 ___________________________________________________________________________________ 

___________________________________________________________________________________ 

 

 

Q2 Write the meaning of the given words-  

a team- _________________________ 1 

b performance- ____________________________ 1 

c temper- _________________________ 1 

d comfort- ________________________ 1 

Q3 Identify the kind of sentences-  

a Write quickly.  _____________________ 1 

b Happy birthday! _________________ 1 
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c What is your name? _______________________ 1 

Q4 Underline the nouns and write their kinds-  

a They went to Chennai by car.      ____________        ___________ 1 

b Mumbai is a big city. ______________ _______________ 1 

Q5 Fill in the blanks with suitable collective nouns-  

a A _________ of cows grazing under the tree. 1 

b A__________ of birds flew in the sky.. 1 

c A _________ of wolves attacked the cows. 1 

Q6 Write the antonyms of the underlined words-  

a The cruel man beat the dog.  ____________________ 1 

b Your answer is wrong. ___________________ 1 

                                                                                                                                                                                                                                                                                                                       


